


Match Equations to the x y data chart

Equations Table Perpendicular Parallel

y=12x+2

y=-3x +]

y=4x+7

y=-3/2x-1

y=-dx-2

y=2x-5

y=-x+]

y=x+2

y=3x-3

y=-x-~1

Table 1
X ¥
~9 i2.5
~3 3.5
-7 0.5
2 -4

Table 2
X Y
-9 34
-3 18
-1 2

2 -1

Table 3

X Y

-9 ~29
-3 -5
-7 3
2 I3

Table 4
X ¥
-4 -13
I -3
8 i1
Iz I9




X ¥y
10 |7
-4 4
12 4
£ | -5
Table 9
X y
8 25
2 7
-4 | -ID
-2 -5

Table 6
X )4
6 =17
10 -29
-7 22
-3 10
Table 10
X )4
-7 ]
-1 0
9 -1
14 -15

Table 7 Table 8
X Y X ¥y
-4 -2 6 -5
-1 I 12 -i
2 4 16 -15
7 9 IEERN
Table 11 Table 12
X ¥ X ¥
-4 0 2 3
-G -1 4 9
6 5 8 21
12 8 ] -7 ~24




